11005 VSSIIVYIW:AG NMVHQ

€102/6¢/803LV0A [ZIN9IA0Y 00YYIRAE G3%03HD

ClL0zZ//2/90°31V0

suopinjog Auep|

dslonl!

L0009 SIONITI

AIVTIIA FAOHD NMTH

‘. LSUNHWTI 8IFT

"SHOON3IA 0IA0HJAVY FHL ONY SIIMVIINOD HODE

3H1 40 301SLNO 035N S NIISIA SIHL 41 DNIHIINIING NOLLYONNOS HO
TYIINYHOIN TYHHLITTI “TYHNIINYLS ARY OL WIVID ON STHVIN HODI

NOLLYTTYASNI ONY X19WISSY ‘NOLLYIIMEYS NI SHOONIA 03A0HJdY

HIJHL ONY SIINVIWNOD NODI JHL Ad 35N HO4 GIANILNI SI NIISIT
SIHL "0311IWH34 10N S| NOILVOTdNG HO 3SN 0IZIYOHENYNA ANV “ONI
SNOILNIOS LLIINIO] NO3I 40 AL4340Ud JAISN13XI JHL JUY SONIMYED

TITLE

0 =h
=00

-
m

aInuiw, G348 HYIANIT 117 39v4 @

o\ |m|(=o o
| o|lc|ln|m|i D
J:C;;)ﬂg}
==
ZI335w2
OZZFW_’O
w ===
s
o[ e
]
AR | I e
w > D =
s} D)
=z |5 2=
ol 18] [+
=5 (e DO
m w A
= oo
w
T
]
e
e

TOLERANCE: £ 1/18” ON
ALL DIMENS\ONS/ ELECTR":AL B
USE WHITE SILICONE TO LEDs: 77 GE - TETRA MAX RED, GERDMXWAS
CONCEAL LIGHT LEAKS POWER SUPPLY: 1 GE - GE?SI2-60V-NA
AMPS:; 0.7 AMPS
THI IGN TO
R e e VA 120 VOLTS WATTS: 84
A ndarsntisrs CIRCUITS: 1-20 amp CIRCUIT
\ __V_) Lﬂhmkﬂnw
ELEGTRIC SIEN
PAINT TO MATCH
BACKGROUND
MOUNTING HOLE
APPROX. LOCATION
ELECTRICAL FEED HOLE
APPROX. LOCATION
12'-5 11/16”
(¥ +] -
ir— = = oy a1
'uI: = = £ B Q

o

et

CLEAR POLYCARB

w/ MOUNTED

TO BACK OF LETTER

UNION, ICON AND U.L
LABEL LOCATION

SCALE: 1/2"=1'-0"

SECTION : oo l
ANCHOR #1/2" SLEEVE ANCHOR $3/8" EXPANSICN ANCHOR, $3/8" LAG BOLT $3/8" THREADED ROD $3/8" THREADED ROD $3/8" TOGGLE BOLT
TYPE (#3/8" BOLT), 2" MINIMUM 2 1/2" MINIMUM EMBEDMENT w/ALUMINUM OR PVC (WING OR PIVOT ROD)
EMBEDMENT COMPRESSION SLEEVE
WALL CMU, BRICK PRE—CAST COMCRETE, WOOD BLOCKING, PLYWOOD WOOD, CONCRETE BLOCK, EIFS WALL w/ GLASS MATTE
TYPE CONCRETE EIFS WALL SYSTEMS FOAM INSULATION SHEATHING, PLYWOQD

G MOUNTING 0

SCALE:

N.T.5.




